Kinn

S AL EHAl 2} 712E LEI = B2 BT A8 e
AE|QIH|A AEl O|HIA Z3{x]
S MY/NE OIUIKI

I'IF

—_——1—

k]

HE My

QlEiA E2Ix{s S0 Ho2 Qs &S U7 HatH £l W wx|
571 SIsH AFSEILICH BIx] BEE £502 Bofobdt CHE &3 9l
2 0lS¥ % ALICH 0| Q=iA BRIX{o| B B BIHHE 08 5tod
ELIC Blei7t BAlo] A 912 oIS ot Qlsla B B2 A

8 SR[ELIC
OIX| Zetx{ Bl IRSE of7tol Ho2 2 oHE 4 YlaLich

EM OlF2]:

AR T

LIAL &2, 4™ ._§F el

&3 E, Fs ook L A AkgE M2l

AHIQIE|A AR HA:
LIAF €215, XHed™ ntF 2.
= E, ook 2 xHed™ oR 2.

HE, AMM e = AMS S Wz RAL3020.

IEC 21601| & o4 A8 2, 2| 160 C.
Et7| A2 2%, %|CH 250 C.

A
El‘—’-‘—%l-_ﬂ bk & =&
APQOH ’i‘!ﬂ

ey x-l

BH —

&2 Sl ALE5t7|of Xgf.

HMIAE]:

AT 0|AM & K0665.

QA EHAXE XX | Ml 24 K1290.
U2 EES e 1Y A1| K2146.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
=ZalAEI] Al L= Ool= S |l CC =
=oAE] HA 2He FIR2E HEI Q= B2 M| AEI EE=
A A AEI CllA =
AHE|QI3|A Al OlcilA Zpix
=M
[
Ty l
ST (T
Swi1 |
: [ ™ |
L L Sw2 :
w
‘ T
-0,02
‘D-o,04
D1 |
—
= U
N
A
Al
EZ= 29
FEHS =& A2 AE AR EfF A A1 B B1 D D1 AE L L1L2SW1SW2F x30° A[EF EbM
2 23 Etd B2
S F1 F2
o N 29N
K2109.9105 AE FZFS] B 31,741,717,91295 M10x1 5 30 87 13 17 13 5 12
K2109.9206 AE A4 B 31,641,717,912,96 M12x1,5 6 34108 14 19 1,8 6 14
K2109.9308 AE FERS B 55,567,826,919,4 8 M16x1,5 8 4291210 19 24 23 14 28
K2109.9410 AE a4 B 53,467,826,919,410M20x1,5 10 4991512 22 30 2,8 15 32
K2109.9105154 AE| Al S Wz RAL 3020 B 31,741,717,912,9 5 M10x1 5 30 87 13 17 1,3 5 12
K2109.9206154 AEl AlS Sz RAL 3020 B 31,641,717,912,96 M12x1,5 6 34108 14 19 18 6 14
K2109.9308154 AE] AS S Wz RAL 3020 B 55,567,826,919,4 8 M16x1,5 8 4291210 19 24 2,3 14 28
K2109.9410154 AEl Al S Wz RAL 3020 B 53,467,826,919,410M20x1,5 10 49,91512 22 30 28 15 32
K2109.19105 AHQlE|A AE A B 31,741,717,912,9 5 M10x1 5 30 87 13 17 13 5 12
K2109.19206 2AE(QIFA AE A4 B 31,641,717,912,9 6 M12x1,5 6 34108 14 19 18 6 14
K2109.19308 AEQIF|A AE a4 B 55,567,826,919,4 8 M16x1,5 8 4291210 19 24 23 14 28
K2109.19410 AEIQIE|A A& A B 53,467,826,919,410M20x1,5 10 4991512 22 30 28 15 32
K2109.19105154 AEQIHA AE! AMS S wZF RAL 3020 B 31,741,717,912,9 5 M10x1 5 30 87 13 17 1,3 5 12
K2109.19206154 2E|QIF|A AEl A5 S w7 RAL 3020 B 31,641,717,912,9 6 M12x1,5 6 34108 14 19 1,8 6 14
K2109.19308154 AEIQIBIA AEl A5 S W7 RAL 3020 B 55,567,826,919,4 8 M16x1,5 8 4291210 19 24 23 14 28
K2109.19410154 2 E|QIBA AEl A5 S whZF RAL 3020 B 53,467,826,919,410M20x1,5 10 4991512 22 30 28 15 32

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



Kinn

Bl AR B 29} SHRE LIS} Ol BE BiMe| AR I
AE|OIZfIA A OIEIA ZiK]

ES 9%

I'IF

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



